Calcola le percentuali dei decimali

1,92 x30% =

9,71 x50% =

2,38 x50% =

4,35 x 60% =

2,83 x40% =

4,77 x 60% =

2,83 x70% =

6,17 x 10% =

0,48 x 40% =

6,95 x 80% =

Data: Punteggio:

2,97 x 10% =

4,64 x20% =

5,21 x90% =

1, 81 x40% =

6,06 x 90% =

5,95 x30% =

0,84 x 10% =

9,45 x 10% =

7,94 x90% =

0,39 x30% =
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Calcola le percentuali dei decimali

1,92 x30% = 0.576

9,71 x50% = 4.855

2,38 x50% = 1.19

4,35 x60% = 2.61

2,83 x40% = 1.132

4,77 x 60% = 2.862

2,83 x70% = 1.981

6,17 x10% = 0.617

0,48 x 40% = 0.192

6,95 x 80% = 5.56

Data:

2,97 x 10% = 0.297

4,64 x 20% = 0.928

5,21 x90% = 4.689

1,81 x40% = 0.724

6, 06 x 90% = 5.454

5,95 x30% = 1.785

0, 84 x 10% = 0.084

9,45 x 10% = 0.945

7,94 x 90% = 7.146

0,39 x30% = 0.117

www.snowmath.com

Punteggio:
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